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1. √5134 

        6 x -18 ÷ + (5- 
-
3) 

= √26 x 34 

  6x – 18 ÷ 9 + 8 

= 2
3
 x 3

2
 

6 x -2 + 8  M1 method y √5184 without use of calc 

 

=  72      M1 Order of operations 

         -4 

= -18      A1 

       03 

 

2. 2
1
/4 + 

3
/5 ÷ 

5
/6  of 2

2
/5 

        1
7
/10 

     = 21/4 + 3/5 x 6/5 x 5/12 

  1
7
/10 

 = 2
1
/4 + 

3
/5 x ½ 

  1
7
/10 

 = (21/4 + 3/10) ÷ 17/10    M1 order for operations of numerators 

 = 5
1
/20  x 

10
/17     M1 multiplying by 10/17 

 = 
3
/2 or 1

1
/2     A1 

       03  

 

3. x =y = 2:3 ⇒ x = 2k    where k is a constant  AH 1 

     y   3k    B1 x    = 
2
/3  M1 

 x=2k ; y = 3k      y 

        thus (5x -2y) : (x-y)     x = 
2
/3y or y = 

3
/2x 

 (5(2k) – 2x3k) : (2k + 3k)   M1 (5(2/3)y – 2y) : 2/3y + y) 

        4k  :   5k      4 : 5  A1 

  ⇒ 4:5     A1 AH 2: 

       03 x=2 y = 3  M1 

       ∴5(2) -2 (3) : 2 + 3     M1 

        4:5   A1 
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4.  Distance covered by bus     Alt 1 

 = 63 x (10.45 – 8.15)    M1 Extra distance 

 = 63 x 2.5      63 x ¾ = 47.25  M1 

 = 157.5      Relative speed 

     Speed of car 157.5     M1 x = -63 

    1.75      47.25 = 7/4   M1   

  = 90km/h    A1 x-63 
         X = 90 

       03 63 x 150= 90km/h 

            150 

5.  54-1/2  x 27000 2/3 

     2-4 x 30 x 52 

   = 1   x (x3√27000)2     M1 removal of –ve indices 

     √64     

 
1
/16 x 3

0
 x 25     M1 Removal of rooty 

 = 
1
/8 x 900 x 

16
/25    M1 simplification 

 = 72      A1 

       04 

 

6.  AC = √85
2
 – √75

2
 = √1600 

   = 40 

 Area of quad ABCD 

 = ½ x 40 x 75 + √75(75-60)(75-60)(75-40) M1 sum of both areas 

    = 500 + √984375 

      = 2492m2     A1 

       = 0.25ha     B1 

       04 

 

7.  Time between Monday 0545 and Friday 1945h 

  = 4 x 24 + 14    M1 Expression leading to 110hrs 

   = 110h 

 

     Time lost = 0.5 x 110 = 55min 

     Time shown in 12hour system 

      1945 – 55 = 1850h    M1 

           = 6.50p.m.    A1 

       03 
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8.  12x
2 

+ 4x – 6a
2
 

          9x2  - 4a2 

      (4x + 3a)(3x -2a)    M1 factorising numerator 

      (3x +2a)(3x -2a)    M1         ,,  denominators √ly 

      = 4x + 3a     A1 

         3x +2a     03 

 

 

9.  y = 
2
/5x + 2      5y + 2x = 10 

     Gradient = -2/5    B1 5(5) +2(-2) =21 

     k – 5  = 
-2

/5     M1 5h +6 =21 

     3- -2      (k,3)  5k = 15 

  

 k-5 = -2 

⇒ k=3     A1 

     03 

 

10.  Let exterior 〈 = 〈at the centre) be x  Alt. 1 

        ∴ 6.5x + x = 180    M1 let the no. of sides be n 

  7.5x = 180    360 x 6.5 + 360 = 180 

    x = 24       n           n 

 ∴No. of sides = 360   M1 180n = 2700 

       24 

   = 15 sides  A1 n=15  A1 

      03 

 

11. 

- construction of 1050 

- fixing point C and construct of line parallel to AB 

through C 

- Completion of trapezion ABCD 

- Location of point T from D only if any above B 

above 125 
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12.   Let angle between ground and wire be θ° 

 ∴0 + 
1
/3θ = 90 

 ⇒ θ = 90 x ¾ = 67.5   B1 or 22.5 

 Let the wire be x cm in length 

 ∴ Cos 67.5 = 
6
/x 

 x =    6  =            6  M1 

     Cos 67.5      0.382683432 

 = 15.68m or 1568cm   A1 

      03 

 

13. Sin (3x + 30) = sin 60°  B1 for 60° 
 Sin (3x +30) = sin 120°  B1 for 120° 
  3x + 30 = 60 

  3x + 30 = 120 

  X = 10° x=30°   B1 for 10° 
      B1 for 30° 
      04 

 

 

Different scales on x and y axis leads to a 

parallelogram 

 

        B0 

 

        B1 if T (0.5,3.5) 

 
 

 

 

 

 

 (a) Rhombus PQRS   ly drawn  B1 NB 5(-2,1) is critical 

(b) Co-ordinates of T(0.5,3.5)   B1  

      02 
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15. Commission earned 

 0.225 x 0.2 x 3800   M1 

  191    A1 

       

       1.5 – 5.5 bar   B1 

       5.5-1.5  bar   B 1 

       7.5-13.5 bar  B1 

       Check height B  

 
        

 

Check Heights 

1.5 – 5.5  -  4 

5.5 – 7.5  - 10 

7.5 – 13.5- 3 

13.5 – 15.5  - 7 given 

 

 17. BC2 = 6
2
 + 8

2
 – 2 x 6 x 8 x cos5°  M1 if drawn to scale the line 23 is not a  

 = 100 – 61.71      line 23 is not at a straight line there  BC = 

√38.2912   = 6.19    are so many possibilities 

 (b) let <ABC be β° 

 sinβ = sin50° = sinβ=65.450   M1 Accept 48.16°,48.15° 
    6 6.19  6.19    47.94° ,47.96° depending 

 ∴β = 47.95°     A1 on method used 

 

 (c) let <CAD be x° 

     2.822 = 72 + 62 – 2x7 x 6 cos ∝ 

    cos ∝ = 49 + 36 – 7.9534 

   84 

  ∝ = 23.48°    A1 22.89 is possible 

 

 (d) Area of ∆ ACD = ½ x 7 x6 x sin 23.48°  √77.1 x 1.92 x 2.91 x 9.0 

  = 837cm
2
    A1 8.37 

10 

 

18. (a) (i) model class 60-69   B1 

 (ii) class where medium task lies 

 0 - 9   1 

 10 – 19  3 Medium is 35 B1 for c4 column  

 20 – 29  7     BI Class centers 

 30 – 39  14 median class is 50-59 B1 m1-deviations 

 40 – 49  24     B1  fd 

 50 – 59  40     Σf=70  B1 

 60 -69   60      

 70 – 79  66     Σfd=-33  A1 

 80 – 89  69     mean=54.4-33/70  M1 

 

 90 – 99  70     =53.93   A1 
 

Class Centres x Fd D = x-A 
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 0-9 4.5 -49.9 -449 

20-29 24.5 -119.6 -29.9 

30-39 34.5 -139.3 19.9 

40-49 44.5 -99.0 -9.9 

50-59 54.5 1.6 0.1 

60-69 64.5 20.2 10.1 

70-79 74.5 120.6 20.1 

80-89 84.5 90.3 30.1 

90-100 94.5 40.1 40.1 

 

19. (i) original price = 16200    B1 

    x 

(ii) price after discount  16200   B1 

       x +3    

 (b) (ii) 16200 – 60 = 16200    M1 or equivalent 

      x  x +3 

 ⇒ (16200 – 600x) (x+3) = 16200x 

 16200x + 48600 – 60x2 – 180x = 16200x 

 60x2 + 180x – 48600 = 0    M1 removal of denominator 

 x
2
 + 3x – 810 = 0     M1 for quadratic equation 

 (x + 30) (x-27) = 0 

 X = -30 or x=27     M1 for factorization of quad. eqn 

 No of calculation bought = 30   A1 C.A.O. or  

 (c ) Initial cost of calculators 

  16200 = 600     M1 

      27 

 

   Discount offered as a percentage 

 16200   - 16200 

    27        30  x 100 

          600      M1 

   = 10%     A1 

        10 

 

20. (i) ON = ½ (-8)  = (   -4  )     20 (a) (ii) alt m is -6 )B1 

            5          2.5 

 N is (-4,2.5)      B1 

 M = (-8 +12  ,  5-5  )     M1 

    2     2 

 M is (2,0)      A1 

 

 (ii) NM = (6)      B1 

       -2 

  

      NM  = √62 + (2.5)2     M1 

  = 6.5      A1 

 

 (b) OB = 12 NM =    6 

      -5  2 ½    

  ∴nm = ½ OB     B1 

 (c ) OP 2  + 2(2 ½ )  = (-10)    M1 

   0       5 

  OP = (-10)  + (-5)  + (-15)   M1 

    5   8  13 

  ∴ P’ IS (-15,13)    A1 

        10 

21. Volume of water 6     =     2 

      9+x       x x = 4.5   M1 follow thro’  

 ∴ vol = 1/3 x 3.142 (6
2
 x 13.5 – 2

2
 x 4.5)  M1 lsf 14.5 : 4.5 

                29  : 9 

  = 508.94 – 18.25 = 490.09   A1 24389 : 729 

 

 



 

SEGERA FESTUS’S SOFT COPY HUB: 0720121995 

 

 (b) (i) volume of sphere 

  Top radius r/14.5  = 2/4.5    r=6.44  M1 v = 24389 x 18.849 =630 

 

 Volume = 1/3 x 3.142 (6.444 x 14.5 – 6 x 13.5) 

  = 121.6  121
11

/15   A1 

 

 (iii) 
4
/3 π x 3 = 121.6     M1 

  r
3
 = 121.6 x 

3
/4x    M1 

  r = 3.073     A1 

        10 

 

22. 

 
 

 

(a) ½ x 150h + ½ x 200h + 300h = 10450  M1 

   475h = 10450 

        H = 22m/s    A1 

  Max speed = 22 x 60 x 60 

    1000  = 79.2km/hr B1 

 

 (b) Accelation 22m/s     M1 

   150 

   = 
11

/25     A1 or 0.1467m/s
2
 

         Or 1900.8km/h2 

 (c) ½ x 100 x 11     M1 

  =550 

 

 (d) Time for half of journey 

  ½ x 22 (150 +t +t) = ½ x 10450  M1 

    B = 162.5   A1 

  Total time = 150 +162.5 

    = 312.5   B1 

        10 
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 a) Direction and distance of Q from P B1 

  Direction and distance of R from P  B1 

 B(i) Distance conversion 

  8.5 x 40    M1 8.51 + 0.1 8.4 X 40 =336 

  = 340 

 

 (ii) Northline at Q    B1 

  Bearing 063 stated   B1 

 C(i) Distance from the top of the  

        Post at Q to the top of post at P   follow through 

   

 X = 240  or x cos9 =240   M1 if calculated 

   = 243m   A1 B1 for calculated angle 

 

 (iii) speed of bird 

  243 x 60 x 60     B1 for angle in form  

  1000 x 18     of bearing 

  = 48.6km/h    A1 240   =x 

        Sin81 

         10 
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X 0 1 2 3 4 5 6 

Y=1/2 x2-

x+3 

3 2 ½  3 4 ½  7 10 ½  15 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

 

 

y1  = ½  x 1.52 – 1.5 +3 = 2.625 

y2  = ½ x 2.52 – 2.5 + 3 = 3.625 

y3 = ½  x 3.52 – 3.5 + 3 = 5.625     B1 ordinates calculated 

y4 = ½  x 4.52 – 4.5 + 3 = 8.625 

y5 = ½  x 5.52 – 5.5 + 3 = 12.625 

 

Approximate area = 1(2.625 + 3.625 + 5.625 + 8.625 +12.625) M1 

   = 33.125 square units    A1 

Area =     ( ½ x 2 – x + 3)    x = (x3  - x2  +3x)6
1   M1 

         6      2    

 

 = 6   -  6   + 3 x 6   -  1  - 1
2
  + 3  = 33.3   M1 

     3 2            6     2 

 33.3 – 33.125  X 100 = 0.651% 

     33.3 

 

 331/3  - 331/8 A + 100% = 0.625% 

      33
1
/3 
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1.   

Limits : 12.5 ∓ 0.05 m and 9.23 ∓ 0.005 m 

Maximum difference 

 = 12.55 – 9.225 

 = 3.325 m 

 

B1 

 

M1 

A1 

3 

 

Absolute errors need to be 

associated with their values 

2.   

a) First 6 terms 

-7, -4, -1, 2, 5, 8 

 

b) sum of 1
st
 50 terms 

  ��� = ��
� �2 × −7 + 49 × 3� 

          = 3325 

 

 

B1 

 

M1 

 

A1 

3 

 

All the 50 terms listed down and 

being added 

3.   

a) ˂ BAC = 70
0
 – 30

0
 = 40

0
 

Reflex ˂BOC = 360
0
 – 80

0
 

                        = 280
0
 

b) ˂ACO = 40
0
 – 30

0
 = 10

0
 

 

B1 

 

B1 

B1 

3 

 

Allow ˂XAD = 50………B1 

Allow B1 if on diagram 

Allow if DOC  = 100 …..B1 

4.     

 � = ��
��  

 

   2 = �×��
��  

    K = 6 

    ∴ ������ ! � = ��
��  

 

 

B1 

 

M1 

 

 

A1 

3 

 

Allow if small letters are used for 

m1 → 6 x 6 or 36 

M1 can be implied when k = 6 is 

found. Don’t give if 6
2
 

 

Allow $� = �%
&   or others 

5.   

Mks  Frequency  c.f  

1 - 10 2 2 

11 – 20 4 6 

21 – 30 11 17 

31 – 40 5 22 

41 - 50 3 25 

 

Median 

  20.5 + *��
� − 6, × ��

�� 

  20.5 +  5.9 

  = 26 

 

 

 

B1 

 

 

 

 

M1 

M1 

A1 

4 

 

 

 

 

For c.f  can implied 

 

 

 

 

Correct subst. 

Allow 5.909 / 5.91 
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Amplitude = 2 

  Period  = 
���

� = 120� 

 

B1 

B1 

2 

 

If 13 is used MO M1,  AO 

 

 

6.   

3x – 45 = 0 

         x = 15 

 3x – 45 = 360 

            x = 135 

 135 – 15 = 120
0
  

 

  

     If new value is introduced  

    M0 M0 

7.   

Area scale factor = 
��
� = 6 

 4x – 2x + 2 = 6 

               2x = 4 

          x = 2 

 

B1 

M1 

A1 

3 

 

May be implied in the method mk 

4x – 2(x-1) = -6…..M1 

X = -4……A1 

8.   

   .3 − /01 = 31 − 7.30�/ + 21.30�/� −
35.302/� + 35.30�/2 + ⋯ 

 

= 2187 – 5103x + 5103x
2
 – 2835x

3 
+ 945x

4
 

   .2.801 = .3 − 0.201 

 

      = 2187 – 5103(0.2) + 5103(0.2)
2
 

           -2835 .0.20� + 945.0.202 

 

     = 1349.352 

 

 

 

B1 

 

 

M1 

 

 

 

 

A1 

3 

 

 

 

Expanded & simplified  must be 

seen upto x
4
 

 

 

If all the terms are substitute then  

B0 M1 A0 

9.   

  5 6 ���

7 = log 5./ − 40 

   
���

7 = 5./ − 40 

 

   x
2
 – 4 x 45 = 0 

   ./ − 90  ./ + 50 = 0 

    x = 9 or -5 

    x = 9 

 

M1 

 

 

 

M1 

M1 

A1 

4 

 

10.   

PR = √60� + 11�  = 61 

 Tan θ  = ��
�� 

      θ = 9.31 

 

 

 

 

B1 

M1 

A1 

3 

 

 

Or equivalent   pw = 61.81 
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11.   

3x – y = 9  ……………  x 

x
2
 – xy = 4 

 

 3/� − /< = 9/ 

    x
2
 – xy     = 4 

  2x
2
             = 9x – 4 

 

2x
2
 – 9x + 4 = 0 

(2x – 1) (x – 4) = 0 

 

 / = �
�  or x = 4 

 

 < = 3 *�
�, − 9   = 3.40 − 9 

  = −7 �
�           = 3 

   

 

 

 

 

M1 

 

 

 

M1 

 

 

A1 

 

 

B1 

4 

 

 

 

 

Correct attempt to eliminate one 

value through subst. or 

elimination 

 

 

Correct attempt to solve using 

factorization, formula(subst.)  

 

Both 

 

 

Both 

 

12.   

 *1 + >
���,

2
= 2?����

�@���� 

 

  1 + >
��� = 1.153 

R = 15.3 

 

M1 

 

 

M1 

A1 

3 

 

 280000 *1 + A
���,

2
= 495000  

 

Forth root 

 

Condone % i.e 15.3 

13.   

 8008 = 2�BC
��� × 2 × ��

1 × 6370 

 

 40 + D = @��@×���×1
�×��×��1� = 72 

   θ  = 72
0
 – 40

0
 

       = 32
0 

 

 Position of B(32
0
S, 20

0
W) 

         Condone coma & bracket 

 

M1  

 

 

M1 

 

 

 

A1 

3 

 

Allow  
C

��� × 2 × ��
1 × 6370 =

8008 

 

 

Or 32
0
 seen  

 

14.   

 = + �  = (7 � + 2 E - k ) - � + E - k ) 

 

     = 6 � + 3 E - 2 F  

 

   = + � = G6� + 3� + .−20� 

 

      = 7 

 

 

B1 

 

 

M1  

 

A1 

3  

 

15.   

Y=H./� − 4/ + 30I/ 
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  = 
�
� /� − 2/� + 3/ + J 

 

0 = 
�
� + 2 + 3 + J 

 

 ∴ J = − 2
� 

  ∴ < = �
� /� − 2/� + 3/ − 2

� 

 

M1 

 

 

 

M1 

 

 

A1 

3 

Correct interpretation (don’t wait 

for interpretation) 

 
7K

�  − 2×�
� + 3/ + J 

 

Correct substitiution 

Allow if 2 terms are correctly 

interpreted (M1) 

Correct equation 

 

16.  Temperature at the 2
nd

 minute = 60
0
 

Temperature at the 11
th

 minute = 18
0
 

 

Average rate of cooling 

 

= 
��L�@
�L��  

 

=  
2�
|?|  

 

= 4 �
�  

0
C/min 

 

 

B1  

 

 

 

M1 

 

 

 

 

A1 

3 

 

 

For both 

 

 

 

 

 

 

 

 

Accept 4.667  
0
C/min 

 If = 4.667  AO 

17.   

(a) A = 
N
O B, C = 2B 

 → A: B: C=  
N
O B: B: 2B 

= 3: 4: 8 

 

(b)  *PQR
R × O, STUVWX 

= 84 l 

 

(c) (i) 
N×PQYBO×ZY[BR×PYY

NBOBR  

        = 140 

 

(ii) 
PRZLPOY

POY × PYY% 

         = 30% 

 

(iii) sh140 x 
PZ[
PYY 

        = 175 

 

 

 

 

M1  

A1 

 

M1  

A1  

 

 

 

M1  

A1  

 

 

M1  

A1  

 

M1  

 

A1 

10  

 

 

 

 

A: B: C 

3: 4 

      (1: 2) X 4  

      3: 4: 8 
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18.   

a) (i) (50 + 40) = 30 (30 + x) 

4500 = 900 + 30 x 

30 x = 3600 

    QS = X = 120cm 

 

         (ii) RS = 
�
� QS 

                 =   
�
� (120) = 60 cm 

                   OR = √61� − 60� 

                           = 11 

 

(b) (i)  sin D = ��
�� 

                  θ = 79.6
0
  

 

      (ii)  angle at the centre 

              = 2 x 79.6 

              = 159.2
0
 

 

 Length of minor arc QS 

   = 
��?.�
��� × 2` × 61 

 

  = 169.5 cm or 169.6 cm 

 

M1  

 

 

A1 

 

 

 

B1 

M1 

A1 

 

M1 
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M1 

A1 

10 

 

 

 

 

 

 

 

 

- Not a double click 

 

 

 

Or equivalent   ��!D = ��
�� 

                                   J �D = ��
�� 

 

Doubling the angle 

19.    

(a) (i) 38392 + 2108 

             = 41000 

 

    (ii) 10164 x 0.1 + 9576 x 0.15 + 9576 x 0.2  

        + 9576 x 0.25 + 2108 x 0.3 

 

      = 1016.4 + 1436.4 + 1915.2 + 2394 + 632.4 

      = 7394.4 

 

Monthly income tax 

 = 7394.4 – 1162 

 = 6232.4 

 

(b) amount saved in coop society 

     = 
�

��� × 41000 − 15000 

 

     = 1300 

Net pay  

   41000 – (6232.4 + 1300) 

  = 33467.6       

 

M1  

A1 

 

B1 

M1 

M1 

 

 

 

 

M1 

A1 

 

M1 

 

 

 

 

M1 

A1 

10 

 

 

 

 

1
st
 band 

3 middle bands 

Last (5
th

 ) band 
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20.  a) y ≤ 2x 

 

      x + y ˂ 20 

      x + y ˃ 8  

         y ˃ x 

b) (i)  

  

 
 

  (ii) maximum area  

       9 x 10  

      = 90 m
2
 

B1  

 

B1 

B1 

B1 

 

 

 

 

 

 

 

 

 

 

 

 

B1 

B1 

B1 

B1 
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Line y = 2x and √ shading 

Broken line x + y = 20 and √ 

shading 

Broken line x + y = 8 and √ 

shading 

Broken line y = 8 and √ shading 

 

Evidence must be there of 

insertion 

If no evidence   

  OW - 1 

21.  a) (i) 
N
Q + P

Q 

 

  =  
2
/3  

 

(ii) 
2
/6×

2
/6  

 

  =  
1
/9 

b)    

   

M1 

 

A1 

 

 

M1 

 

A1 

 

 

 

 

B1 

 

 

 

B1 

 

 

 
4
/6 

 
4
/36 

 

 

 

 

Accept 
4
/6 
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c) (i) P(gataro plays football) 

 

= 
P
Z × Z

N + P
N × N

[ + P
Q × P

Z 

 

= 
Na
QY 

 

(ii) P(neither jogs nor plays football) 

   = 
P
Z × P

N + P
Q × P

Z 

    = 
P
O 

 

 

 

M1 

  

A1 

 

 

 

 

M1 

 

A1 

10 

22.  a)  

(i) bc = d - e 

 

(ii) bf = 
P
N bc =  

P
N (d - e ) 

 

(iii) gf = e +  
P
N (d + e ) 

 

    = 
P
N  d + 

Z
N  e 

 

b) bh = hBM = h *P
Z  d  −  e,  

  gh = kON  = k  *P
N   d  +  Z

N   e,   

 

Also 

   gh = gb + bh 

          = e + h *P
Z  d  −  e, 

 

k *P
N   d  +  Z

N   e, = h *P
Z  d  −  P

Z e, 

 

 

 
P
N id  =  

P
Z jd   

 

 
P
N k = 

P
Z j  → k = 

N
Zh…………..(i) 

 

 
Z
N ie = e - he 

 

 
Z
N i = 1 – h……………….(ii) 

 

 

B1 

 

B1 

 

 

M1 

 

 

A1 

 

 

 

 

B1 

 

 

 

B1 

 

 

 

M1 

 

 

 

 

 

 

 

M1 

 

 

 

 

 

 

 

 

Or equivalent 

 

If ratio theorem is used give the 

mks  M1 A1 

 

 

 

 

 

 

 

 

 

 

 

k *�
�  �  +  �

�  l, = b+h*�
�  �  −  l, 

equating (one must be right) 

 

 

 

 

 

Two simultaneous eqns. 
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Substituting k =  
N
Z m in (ii) 

 

 
Z
N *N

Z m, = P − m → m = P
Z 

 

Substituting m = P
Z in (i) 

 

k =  
N
Z *P

Z, = 
N
O 

 

 

 

 

M1 

 

 

 

 

A1 
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Substituting one value 

 

 

 

For h = 
�
�  and k = 

�
2 

 

23.  a)  

   
 

(i)     

(ii)      

 

 

 

b) (i) 9.2 x 10 = 92 m 

 

 

 

(ii) Area of region bounded y locus of P 

Locus of Q and line BQ1 

Angle = 60
0
 radius = 46 m ∓  0.1 

 

= n × OQZ × QY
NQY  

= 1107.94 

                   −o  1108 m
2
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B1 

B1 

B1 

B1 
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Construction arcs seen 

Locus of P 

Construction of 30
0
 

Correct centre 

Drawing of arc – centre 0 

 

Allow BQ1 from calculation 

 

 

Identify region- can also be 

implied 

 

For radius and angle of sector 
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24.  a)    

  

                                                                                          S1               scale – linear & 

sufficient 

                                                                                          P2               (P1 for points √ 

plotted) 

 

 b) (i) value of a   

            = 
LY.a
N.[  

          = - 0.2 

Value of k = 1.7 

 

(ii) equation : -0.2t + 1.7 = r 

  

  iii) Value of t when r = 0 

  ∴ 0 = -0.2t + 1.7  

       0.2 t = 1.7 

            t = 1.7  

         U = P.a
Y.Z = R. [ 

 

L1 

M1 

 

A1 

B1 

 

B1 

 

 

M1 

 

A1 
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 √ line 

 

 

 

 

 

Apply it if M1 earned 

 

 

 

 

 

 

 

 

 

 

 

 

 


